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Vertex Cover (VC) 
Vertex Cover: Given graph 𝐺 = (𝑉, 𝐸) and integer 𝑘 ≤ |𝑉|, is there 𝑉′ ⊆ 𝑉, 
with |𝑉!| ≤ 𝑘, such that each edge in 𝐸 contains an end point in 𝑉′?
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Report:
• Introduction
• Algorithm descriptions
• How do they work?
• How do you know they are valid?
• How do you know they are optimal (if they are)?
• Running times?

• Evaluation description
• What metrics are you testing?
• How many iterations of each scenario did you do?
• How did you generate your graphs?

• Results
• Plots?
• What are your conclusions?
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